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Consider the Green function:
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Define a Fourier transformation in 6:
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Let A = 251—1”, take @ = 0 and 2/ = 0 WLOG, hence:
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The delta function in z and ¢ can be represented as
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So that (4) becomes:
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Let w? = w2 + k2. The solution has the form:
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Solving for C,, and D, using the Wronskian determinant, I,,,(z) K/ (z) — I/ (z) K, (z) =
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Hence we get:
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Since w'? = w? — k2, dw' = wdw(w? — k2)~2. Then
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From (3.876.7) of Gradshteyn-Ryzhik, the k integral gives 7.Jy(w(), where
¢ = V22 +t2. Thus,
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from (6.578.11) of Gradshteyn—Ryzhik, where coshu = R
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When 6; = 2,
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which agrees with the end result in ckpc4d.
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